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1.By default, if a NetWare server is synchronization on the network, how frequently does it check for time?
A. Every 3 minutes

B. Every 5 minutes

C. Every 10 minutes

D. Every 15 minutes

E. Every 20 minutes

Answer: C

2.What needs to be done to allow servers to find any time server rega******f the tree it's in?
A. Set Directory tree mode to off

B. Set timesync restart flag to on

C. Set Service Advertising Protocol to off

D. Set the default time server type to reference

Answer: A

3.You have installed the first NetWare 5 server for your company and accepted all default settings. What
type of time server is the server?

A. Primary

B. Reference

C. Secondary

D. Single reference

E. Secondary reference

Answer: D

4 By default, when is a server *** *not being synchronized to the network?
A. When it's more than one seconds different than the network time.

B. When it's more than two seconds different than the network time.

C. When it's more than three seconds different than the

D. When it's more than four seconds different than the network time.

E. When it's more than five seconds different than the network time.
Answer: B

5.In an IPX environment, which methods do servers use to find each other to synchronization? (Choose
two.)

A. TCP/IP

B. NTP.NLM

C. Configured lists

D. Service Advertising Protocol (SAP)

E. NetWare Link Services Protocol (NLSP)

Answer: C,D

6.Which time servers participate in voting for the correct time? (Choose two.)
A. Master
B. Primary



C. Reference

D. Single reference

E. Secondary reference
Answer: B,C

7.Which statement about the BorderManager 3.5 installation process is true?

A. NETBASIC.NLM must be loaded on the server prior to installation.

B. You must configure your servers and clients to use TCP/IP prior to installation.

C. Installation can be done remotely using RCONSOLE with the CD mounted on your local machine.
D. You can install on a remote server If you copy the contents of the CD to a mounted volume on that
server.

Answer: D

8.What system is used to adjust different time zones to get an equivalent time for time synchronization?
A. Time stamps

B. Standard time

C. Greenwich Mean Time (GMT)

D. Daylight saving time offset

E. Universal Time Coordinated (UTC)

Answer: E

9.Which time server types advertise that they are a time provider? (Choose 3.)
A. Master

B. Primary

C. Reference

D. Secondary

E. Single reference

F. Secondary reference

Answer: B,C,E

10.Which file can you view to identify the default filter exceptions to the BorderManger filters?
A. FILE.TXT

B. ALLFILT.TXT

C. FILTEXCP.TXT

D. The file specified by the user when filters are saved to a text file.

Answer: D

11.Which statement about time synchronization is true?

A. Time synchronization is a service that records time changes at the server console.

B. Time synchronization is a service that maintains consistent time throughout the network.

C. Time synchronization is a service that determines the correct time throughout the network.

D. Time synchronization is a service that records changes in time security events throughout the network.
Answer: B



12.Which statement is true about a single reference time server?

A. It gets its time from a reference time server.

B. It does not advertise itself as a time provider.

C. It cannot coexist with primary or other reference servers.

D. It must have another reference or primary server to negotiate time with.
Answer: C

13.What is the message content of a type 31CMP packet?
A. Echo Reply

B. Time Exceeded

C. Parameter Problem

D. Address Mask Reply

E. Destination Unreachable

Answer: E

14.You have been asked to troubleshoot your client's issue of timeout synchronized throughout the
network. Your client has five servers in the tree located at their headquarters. The time configuration for
each server is as follows. Time server type Configured lists Serv1 Single reference off Serv2 Primary off
Serv3 Secondary off Serv4 Secondary off Servs Secondary off What is preventing time from being
synchronized?

A. There needs to be more than one primary time ***

B. Configured Lists needs to be turned on *** **

C. Configured Lists needs to be turned on *** ** secondary servers.

D. A single reference time server cannot co-exist on the primary time server.

E. Configured Lists needs to be turned **** primary and single reference server.

Answer: D

15.Which statement is true regarding reference time server?

A. It does not advertise itself *** ** provider.

B. It cannot coexist with other primary time servers.

C. It gets its time from a single *** *** time server.

D. It negotiates time with primary time server, but does not adjust its internal clock.
Answer: D

16.You are trying to determine if NAT is working. Which server console command to be used to determine
if filters are configured to deny outgoing IP packets?

A. PING

B. TCPCON

C.INETCFG

D. FILTCFG

E. NIASCFG

Answer: D

17 .You are the NDS expert in your company. You are getting ready to merge the EMA_2 tree into the



EMA tree. You are using Servl from the EMA_2 tree *** from the EMA tree to perform the merge. The
following is the partition and replica listing for each tree. EMA_2 [Root] EMA [Root] Serv1 Master Serv2
Read/write Serv3 Read/write Serv4 Master Serv5 Read/write Servé Read/write Which Server will get a
replica of the [Root] partition after the merge? (Choose four.)

A. Serv1

B. Serv2

C. Serv3

D. Serv4

E. Servb

F. Serv6

Answer: AD,E,F

18.Which time server***** is the default configuration for the second or subsequent servers installed in the
tree?

A. Master

B. Primary

C. Reference

D. Secondary

E. Single reference

Answer: D

19.What are benefits of using BorderManager proxy acceleration? (Choose 2.)
A. Web server IP addresses are kept hidden from the Internet

B. Workstation IP addresses are kept hidden from the Internet

C. Cached web pages are delivered to your internal users 60% faster

D. Workstations can access the Internet without having full IP support installed
E. On proxy server can act as several web servers *** ** fault to tolerance
Answer: AE

20.Which statement about merging NDS trees is valid?

A. Time does not need to be synchronized for the merge to be successful.

B. All server in the target tree ***** of the target [Root] get removed from the new [Root]'s replica list

C. The server that contained the master replica of the source tree [Root] receives a read/write replica of
the new [Root].

D. All servers in the tree must receive a replica of [Root] of the tree they are in before the merge process
can be started.

Answer: C

21.You have installed the first four servers in your company's NDS tree. You accepted all time defaults
when installing. What type of time servers exist in your tree?

A. 1 primary and 3 secondaries

B. 1 reference and 3 secondaries

C. 1 single reference and 3 secondaries

D. 1 reference, 2 primaries, and 1 secondary



E. 1 single reference, 1 primary, and 2 secondaries
Answer: C

22.CORRECT TEXT
Exhibit

: mainute)

14

Given the

information in the graphic, how many proxy access requests have been satisfied by requesting the
information from the source web server? (Enter the number.)
Answer: 3

23.Which statement is true regarding secondary time server types? (Choose two.)

A. They do not participate in voting for time.

B. They must get their time form a primary server.

C. They adjust their time 50% to match the established network time.

D. By default, they use configured lists to direct them to which server to get time.

E. They can get their time form single reference, reference, primary, and secondary servers.
Answer: AE

24 Which utilities allow you to change the time synchronization type for a server? (Choose two.)
A. MONITOR.NLM

B. NDS Manager

C. DSREPAIR.NLM

D. NetWare Administrator



E. The SET parameters at the server console
Answer: A

25.Which tasks are involved in defining a security policy? (Choose 3)
A. Limit access

B. Identify the threats

C. Compare software solutions

D. Identify network resources

E. Analyze organizational performance

Answer: A,B,D

26.Which statements are true regarding NDS rights after merging them? (Choose two.)

A. The trustee list (ACL) of the source tree [Root] is discard.

B. The admin object in the target tree loses all rights to [Root]

C. The source NDS tree user object used in the merge **** granted Supervisor object rights to the entire
new NDS tree.

D. The target server object will be granted rights to ****** of new NDS tree.

Answer: A,C

27.If a secondary time server is not synchronized to a single reference time server *** percentage of the
time difference does the secondary time server make during the next polling process?

A, 10%

B. 25%

C. 50%

D. 75%

E. 100%

Answer: E

28.Which tasks are involved in defining a security policy? (Choose 3)
A. Impalementa VPN

B. Identify the threats

C. Compare software solutions

D. Identify network resources

E. Identify unauthorized access

Answer: B,D,E

29.Your company has six NetWare 5 servers (Serv1, Serv2, Serv3, Serv4, Serv5 and Serv6. One use
NetWare 3.12 (Serv7) server. This tree has only one existing partition, the [Root] partition. The servers
were installed in the following order Serv1, Serv2, Serv3, Serv4, Serv5, and Serv6. You have just finished
upgrading Serv7 to NetWare 5. Which servers hold a replica of the [Root] partition? (Choose four.)

A. Serv1

B. Serv2

C. Serv3



D. Serv4
E. Servb
F. Servé
G. Serv7
Answer: A,B,C,G

30.In a time provider group, which server carries the *** ***voting on a time?
A. Primary

B. Reference

C. Secondary

D. Single reference

Answer: B



Trying our product !

% 100% Guaranteed Success

% 100% Money Back Guarantee

% 365 Days Free Update

% Instant Download After Purchase

% 24x7 Customer Support

% Average 99.9% Success Rate

% More than 69,000 Satisfied Customers Worldwide

% Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

Need Help

Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Submit A Ticket

One Year Free Update Money Back Guarantee Security & Privacy

Free update is available within One To ensure that you are spending on ‘We respect customer privacy. We
Year after your purchase. After One quality products, we provide 100% use McAfee’s security service to
Year, you will get 50% discounts for money back guarantee for 30 days provide you with utmost security for
updating. And we are proud to from the date of purchase. 'your personal information & peace

boast a 24/7 efficient Customer of mind.
Support system via Email.

Guarantee & Policy | Privacy & Policy | Terms & Conditions

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © 2004-2014, All Rights Reserved.


http://www.itexamservice.com/

	
	2.pdf
	frondpage.pdf
	tou.pdf
	空白页面


	end page.pdf
	tou.pdf
	空白页面



	3.pdf
	frondpage.pdf
	tou.pdf
	空白页面


	end page.pdf
	tou.pdf
	空白页面



	1.pdf
	frondpage.pdf
	tou.pdf
	空白页面


	end page.pdf
	tou.pdf
	空白页面







